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EXAMINATION, DEC. – 2016 

Second Year 

(i) ENGLISH (Paper – II) 
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All sections are compulsory 

SECTION-A 

Q1) A) Read the following passage and answer the questions that follow: [5] 

   It would be a blessing if each human being were stricken blind and deaf for 
a few days at some time during his early adult life. Darkness would make 
him more appreciative of sight, silence would teach him the joys of sound. 

  a) What would be a blessing? 

  b) At what age should one be blind and deaf for a few days? 

  c) Why would it be a blessing? 

  d) From which lesson is this passage taken? 

  e) Who is the writer? 

 B) Read the passage and choose the right answer: [5] 

  Dolphins are regarded as the friendliest creatures in the sea. Man is                      
considered superior because we can kill them more easily than they can kill 
us, but this is not a satiofactory argument as we appear less superior when 
we destroy them. 

  a) Dolphins have 

    i) a reputation of being powerful 

    ii) less intelligence 

    iii) a reputation of being friendly 

    iv) communication skills 

 

    b) We can kill them more easily than they can kill us 

    i) Proves dolphins have linguistic skills 

    ii) Shows they are more adapted to their environment 



   

    iii) Does not mean we are superior to them 

    iv) None of the above 

  c) When we destroy them 

    i) We appear superior to them 

    ii) We become less superior 

    iii) We win the argument 

    iv) None of the above 

  d) ‘Satisfactory’ means 

    i) Thrilling 

    ii) Fuefilling 

    iii) Enjoying 

    iv) None of the above 

  e) Which word in the passage means ‘higher’. 

    i) Regarded 

    ii) Considered 

    iii) Appear 

    iv) Superior 

Q2) Answer any Two of the following in not more than 100 words each: [2 × 4 = 8] 

 a) How can one be a good writer according to L.A. Hill? 

 b) Narrate Gandhiji’s experiences in London. 

 c) What is the central theme of ‘The Drunkard’? 

 d) How does Keller describe the attributes of sight? 

Q3) Answer any ONE of the following in about 200 words: [7] 

 a) What is the central theme of ‘Three days to see’. 

 b) Justify the title, ‘Man’s Peril’. 

 c) What are the components of the knowledge society. 

SECTION-B 

Q4) a) Answer any one of the following in not more than 100 words: [4] 

   i) What is the central theme of the poem, ‘London’. 



   

   ii) Write an appreciation of the poem, ‘The Gift of India’. 

   iii) Bring out the theme of perseverance in, ‘Ulysses’. 

 b) Explain any one of the following: [4] 

   i) Something there is that doesn’t love a wall. 

   ii) He kindly stopped for me. 

   iii) But being too happy in thine happiness. 

 Q5) Answer any one of the following in about 200 words: [6] 

 a) Why couldn’t the poem stop for death? 

 b) Bring out the irony in ‘Mending Wall’. 

 c) Justify the title, ‘The Last Ride Together’.  

SECTION-C 

Q6) Answer any one of the following in about 200 words: [6] 

 a) Which moral dilemma do the characters in Subha face? 

  b) Why did the Reverend feel responsible for Scoresby? 

 c) Describe the love and hate relationship between husband and wife in ‘The 
Lottery Ticket’? 

SECTION-D 

Q7) Read the following passage and summarize it: [5] 

 There are different forms of environmental pollution. Air pollution is caused by 
the burning of coal and oil. A second type of pollution is noise pollution. It is the 
result of the noise of aircraft and heavy traffic. Loud music is also a cause of 
noise pollution, which has been seen to affect people’s hearing and give them       
severe headaches and high blood pressure. 

Q8) Write an essay on one of the following: [5] 

 a) Punctuality 

 b) Corruption 

 c) Cricket in India 

Q9) Answer any one of the following: [5] 

 a) Write a report on your holiday at a hill station. 

 b) Write a report on your College Annual Day Program. 



   

Q10) Use four of the following idioms and phrases in sentences of your own: [5] 

 a)  behind the scenes 

 b) take stock of 

 c) give ear to  

 d) set off 

 e) look down upon 

 f) put out 

  g) stand up 

  h) off and on  

Q11) Answer any one of the following: [5] 

 a) Write a dialogue between you and a salesman at a mall. 

 b) Write a letter to your friend inviting him for your birthday party. 

 c) Write a letter to the editor of a newspaper complaining about the menace of 
stray dogs.  

E E E 
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Q1)  D “Mìü…¨ Ðé°ÌZ JMæü ç³§éÅ°Mìü {ç³†ç³§éÆæÿ® ™é™èþµÆ>ÅË$ {ÐéÄ¶ý$…yìþ. (8) 

 a) AÆæÿ§æþÐ@þ¬ ¯ðþMìüP Móü™èþ¯@þ ç³sê…^èþË ^èþ… è̂þËOÐðþ$¯@þ ™éÍÃ™ø 

  §æþ$ÆæÿVæü fÐ@þ…º$ Ð@þ¬¯@þYyæþÐ@þ— {§ø_ Mæüyæþ…Vðüyæþ$ ™èþ™èþ¢‚ý…º$™ø 

  ¨ÇVðüyæþ$ º…yìþ Mæü…yæþÏ ç³W¨¯Œþ {¿¶ýÑ$Æÿ¬…^èþ$ Ð@þ$¯@þ…º$™øyæþ¯é 

  çßýÇçÜ¯@þ$ §ðþ… ð̂þ çÜ™èþÅ çÜÐ@þ¬§æþ…_™èþ M>… è̂þ¯@þ Ýû«§æþ Ò«̈ Mìü¯Œþ. 

 b) }ÌêÍ™èþÅÐ@þ¬ °™èþÅÔ¶ý$ ®̈Ä¶ý¬ Væü$×Z™óþÞMæü…º$¯@þ$¯Œþ VæüÍY, Ä¶ý¬ 

  §óþÓË çÜ*¹Ç¢— §æþÍÆæÿ$a ™èþ…{yìþÄ¶ý$¯@þ$ ¯@þ¼®̄ Œþ f…{§æþ$—Oyðþ ™ø_ @̄þ¯Œþ 

  »ZË$¯Œþ V>Mæü, ¿¶ýÐé§æþ–Ô¶ý$…yìþ ™èþÆæÿ$—Oyðþ ç³#×ýÅ…º$Ë¯Œþ »êíÜ¯@þ¯Œþ 

  ÝëË“V>Ð@þ$ Q°¯Œþ f°…^èþ$¯ðþ Mæü§é! gê™èþÅËµ ´ëÚë×ýÐ@þ¬ÌŒý !  

Q2) “Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯@þ$…yìþ Æðÿ…yìþ…sìýMìü çÜ…§æþÆæÿÂ çÜíßý™èþ ÐéÅQÅË$ {ÐéÄ¶ý$…yìþ.(4 × 2 = 8) 

A & ¿êVæü… 

 a) f¯@þMæü$ËMæü$¯Œþ VæüÆæÿ~Ä¶ý¬Væüâ¶ý çÜ§æþ*ÂçÙ×ýÐ@þ¬ÌŒý. 

 b) õ³ÆæÿË$Mæü…gñý…¨¯@þ Ä¶ý$sìýt M>…™èþË$_™èþ ÐéÅ´ëÆæÿÐ@þ¬ÌŒý ó̄þÆæÿ$¢Æóÿ. 

 c) ™óþ¯ðþç³NíÜ¯@þ Mæü†¢ «§é{¡ çÜ$Ææÿ$…yæþ$. 

 d) ¯é§æþ$ Ðóþ$¯@þ$¯@þ²̈  ^ðþ…™èþ Væü…Væü Ð@þ$yæþ$Væü$¯@þ²̈ .  

B & ¿êVæü… 

 a) QÈ§æþ$ Mæüsôýt çÙÆ>º$ ÌôýyøÄŒý$. 

 b) ´ëyìþ¯éyæþ Ð@þ$à…{«§æþ Ýû¿êVæüÅX†. 



   

 c) Ð@þÅMìü¢ çÜ…çœ$Ð@þ¬Ë…§æþ$ GÄ¶ý$Å¨ {ç³£æþÐ@þ$ Væü×ýÅÐðþ¬ ^ðþç³µÐ@þÐ@þ*Ã. 

 d) ¯éÐ@þ*r ¿êÑ™èþÆ>ËMæü$ ÐéÆæÿçÜ™èþÓ…V> çÜ…“MæüÑ$çÜ$¢…¨.  

Q3) “Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ. (2 × 7 = 14) 

A & ¿êVæü… 

 a) }Mæü–çÙ$~yæþ$ çÜ™èþÅ¿êÐ@þ$¯@þ$ A¯@þ$¯@þÆÿ¬…_ @̄þ Ñ«§æþÐ@þ¬. 

 b) ïÜ™é ç³Ç™éÅVæü Ð@þ–™é¢…™èþÐ@þ¬¯@þ$ {ÐéÄ¶ý$…yìþ. 

B & ¿êVæü… 

 a) ‘{ç³†fq’ MæüÑ™é Q…yìþMæüÌZ }} ÐðþË$Ð@þÇ…_¯@þ A¿¶ý$Å§æþÄ¶ý$¿êÐéË$. 

 b) Ð@þ$à…{«§ø§æþÄ¶ý*°² §éÔ¶ýÆæÿ«̈  _{†…_ @̄þ Ñ«§æþÐ@þ¬.  

Q4) “Mìü…¨ Ðé°ÌZ {ç³† ¿êVæü… ¯@þ$…yìþ JMæü§é°Mìü çÜÐ@þ*«§é¯@þ… {ÐéÄ¶ý$…yìþ. (2 × 6 = 12) 

A & ¿êVæü… 

 a) Ð@þ*™èþ–¿êÚëÀÐ@þ*¯@þÐ@þ¬ ò³Ææÿ$Væü$rMæü$ ´ë @̄þ$Væü…sìý ÐéÇ çÜ*^èþ¯@þË$. 

 b) “Æ>Ä¶ý$Ë M>Ë… ¯ésìý ïÜˆ ¿ZVæüÅ Ð@þçÜ$¢Ð@þ#” & °Ææÿ*í³…ç³#Ð@þ¬. 

B & ¿êVæü… 

 a) }Æ>Ð@þ¬Ë$ & ÒÆæÿÄ¶ý$ÅË Ð@þ$«§æþÅ ÝëW¯@þ ºçßý$M>Ë §æþÆæÿØ¯@þ…. 

 b) Ð@þ$¯@þ$^èþÇ{™èþ  Ð@þ$à{ç³º…«§æþ {́ ëÔ¶ýççÜ¢ ÅÐ@þ¬ {ÐéÄ¶ý$…yìþ.  

Q5) “Mìü…¨ Ðé°ÌZ Æðÿ…yìþ…sìýMìü çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý$…yìþ. (2 × 6 = 12) 

 a) ç³#Ææÿ$Úù™èþ¢Ð@þ$Æ>Ð@þ# 

 b) ºçÜÐ@þÆ>k 

 c) Í…VæüÆ>k 

 d) M>ã…¨ 

       

Q6)  “Mìü…¨ Ðé°ÌZ JMæü §é°° Væü*Ça ÐéÅçÜ… {ÐéÄ¶ý$…yìþ. (6) 

 a) Ðé™éÐ@þÆæÿ×ý M>Ë$çÙÅ…. 

 b) AÑ±† °Ææÿ*ÃË @̄þ…. 

 c) ç³{†MæüË$. 



   

 d) ¯@þ_ā @þ MæüÑ. 

Q7) a) i)  “Mìü…¨ ç³§æþÅ´ë§é°Mìü Væü×ýÑ¿¶ýf @̄þ ^óþíÜ bèþ…§æþçÜ$Þ̄ @þ$ Væü$Ç¢…_ Ä¶ý$†° õ³ÆöP¯@þ…yìþ.(5) 

    ‘™èþÎÏÄ¶ý$° »ñýr$t Ý÷ÇW «§æþÆæÿOò³— ºyìþÄ¶ý$¯Œþ’ 

Ìôý§é 

  ii)  ^èþ…ç³MæüÐ@þ*Ë ç³§æþÅË„æü×ýÐ@þ¬¯@þ$ Ýù§éçßýÆæÿ×ýÐ@þ¬V> ÑÐ@þÇ…ç³#Ð@þ¬.  

 b) i)  “Mìü…¨ çç³§æþÅ…ÌZ AË…M>Æ>°² ™ðþÍµ Ë„æü×ý çÜÐ@þ$¯@þÓÄ¶ý$… ^óþÄ¶ý$…yìþ. (5) 

    “Æ>f¼…»êçÜÅ Ææÿ$MìüÃ×ìý ™óþfÇÌñýÏ 

    Ýë¯@þ— ºsìýt̄ @þ Ð@þ$MæüÆ>…Mæü$ Ô¶ýçÜˆÐ@þ$¯@þVæü ” 

Ìôý§é 

  ii)  Ææÿ*ç³M>Ë…M>Ææÿ Ë„æü×ê°² Ýù§éçßýÆæÿ×ý…V> ÑÐ@þÇ… è̂þ…yìþ.  

 

E E E 
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I)  Answer any two questions. [2 × 10 = 20] 

  Û¶mo: CÎma§ {bIV & 
1) hf©dY©Zñ¶ nmÌmUm§ M[aÌ{MÌUMmVwar§ {deX¶V & 

2) Or‘yVdmhZ: {H$‘Wª ‘b¶nd©V§ JV:? VÌ H$m‘ní¶V²? 

3) D$ê$^“ñ¶ n[aM¶mË‘H§$ {Z~ÝY‘oH§ {bIV & 

4) lrH¥$îU gwXmåZmo ‘¡Ìr H$W‘mXe©‘¡Ìr {Zê$n¶V & 
 

II) eVmZÝXoZmoº$m§ {dídm{‘Ìñ¶ ~«÷{f©Ëd àm{áH$Wm§ {deX¶V? [10] 
AWdm 

  AmMm¶© lram‘MÝÐH$do: n[aM¶mË‘H§$ {Z~ÝY‘oH§$ {bIV & 
 

III) Explain any four of the following with reference to context. [2 × 3 = 6] 

  MËdm[a ggÝX ª̂ ì¶m»¶mV & 
1) {ZXm}f Xe©Zm {h H$Ý¶H$m ^dpÝV & 

2) ñd§ Xoh‘Ym}naV§ dhm{‘ & 

3) ³d gy¶©: ³dM IÚmoV: 
4) gd©ñ¶mä¶mJVmo Jwê$: & 

5) ñd§ Xoh‘Ym}naV§ dhm{‘ & 

6) Zañ¶ ^m½¶aoIm An[adV©Zr¶m & 

7) {dZm{^foH§$ amOm Ëd§ {dàmoº}$d©MZ}‘©‘ & 
8) qH$ H$V©ì¶Vm‘yT>m: Vo J«m‘rUm: & 

 

IV) Write a brief note on any two [2 × 4 = 8] 

  Û¶mo: bKwQ>rH$m§ {bIV & 

1) lrhf©: 
2) nÄMVÝÌ‘²        

3) ^ma{d 

4) e‘amMm¶©: 

V) Define and illustrate any two Alankaras. [2 × 3 = 6] 

  Û¶mo: Ab§H$ma¶mo: bjUmoXmhaUo {bIV 
1) Cn‘m 

2) AWm©ÝVaÝ¶mg: 



   

3) C„oI: 

4) {damoYm^mg       

 

VI) Write the forms of any four of the following sabdas. [4 × 2 = 8] 

  MVwUmª {Z{X©îQ>{d^{º$fw ê$nm{U {bIV & 
1) ‘ê$V² - V¥Vr¶m 
2) amOZ² - fð>r 
3) {dÛg² - àW‘m 
4) Añ‘X² - gá‘r 
5) dmH²$ - MVw{W© 
6) VX² (nw§) - àW‘m 
7) nMV² - gá‘r 

8) ‘Zg² - nÄM‘r 
 
VII) Write the forms of any four of the following adding the given terminations. [4 × 1 = 4] 

1) ñ‘¥ - ³VdV²  
2) nR²> - Vw‘wZ² 
3) dM² - emZM² 
4) km§ - eV¥ 
5) {O - ë¶n² 
6) J‘² - Vw‘wZ² 
7) Zr - ³VdV² 
8) Xm - emZM² 
 

VIII) Translate any four sentences into Telugu or English. [4 × 2 = 8] 

  MVwUmª AmÝY«̂ mfm¶m§ dm Am§½b^mfm¶m§ {bIV & 
1) g§ñH¥$V§ ^maVr¶ ^mfmUm§ OZZr & 
2) H$m{bXmg: A{VàmMrZ: H${d: & 
3) Y‘m} aj{V a{jV: & 
4) OZZr OÝ‘ ŷ{‘íM ñdJ©X{n Jar¶gr & 
5) {dÚm XXm{V {dZ¶‘² & 
6) {dÛmZ² gd©Ì nyÁ¶Vo & 
7) AmMm¶© - ZmJmO©wZ: ~m¡ÜX‘Vo ‘hmnpÊS>V: & 
8) JVg§dËgao ^maVXoe d¡km{ZH$m: A§JmaH$J«h§ à{V EH§$ AÝV[aj¶mZ§ àMmo{XVdÝV:&  
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Q1)  {ZåZ{b{IV nÚm§e H$mo g àg§J ì¶m»¶m H$s{OE & [18] 
a) i) {Z§XH$$ {Z¶ao am{I¶o, Am§JZ Hw$Q>r N>dm¶ &  

 {~Z nmZr Am¡a gm~yZ, ‘Z {Z‘©b H$a¡ gŵ m¶ && 
AWdm 

ii) gya g‘a H$aZr H$aqX, H${XZ OmZmd{X Amn &  
 {d‘m‘Z [anw nmB aZ, H$mMa H$aqX àbmf& 
 

b) i) a{h‘Z Xo{I ~S>oZ H$mo H$hmH$a¡ Vadm[a 
AWdm 

 ii) gVg¡¶m Ho$ Xmohao, Á¶mo§ Zm{dH$ Ho$ Vra & 
  XoIZ ‘| N>moQ>o bJ¡, Kmd H$aV Jå^ra && 

 
c) i) ¶h gM h¢ Vmo A~ bm¡Q> Mbmo Vw‘ Ka H$mo& 

   Mm¢Ho$ g~ gwZH$a AQ>b H¡$Ho$¶r-ñda H$mo && 
AWdm 

   ii)  ‘wQ²>R>r ^a XmZo H$mo, ŷI {‘Q>mZo H$mo,  
    ‘w±h ’$Q>r nwamZr Pmobr H$mo ’¡$bmVm & 
   gmW Xmo ~ƒo ^r h¢ gXm hmW ’¡$bmE & 
   
Q2) {H$gr EH$ H${dVm H$m gmam§e {b{IE & [10] 

a) H¡$Ho$¶r H$m níMmVmn & 
b) {^jwH$$ & 
c) h‘mam ß¶mam ^maV df© & 
 

 

Q3) {H$gr EH$ H${d H$m n[aM¶ Xr{OE & [10] 
a) {~hmar bmb & 
b) gmohZbmb {ÛdoXr & 
c) ahr‘ & 

 
 

Q4) {H$gr EH$ {df¶ na {Z~§Y {b{IE & [15] 
a) dV©‘mZ {ejm àUmbr & 



   

b) {dÚmWr© Am¡a AZwemgZ & 
c) ~oH$mar g‘ñ¶m & 
d) {dkmZ go bm^ Am¡a hm{Z & 
e) nwñVH$mb¶ & 
  

Q5) {H$gr EH$ gm{hË¶ {df¶ na {Z~§Y {b{IE & [15] 
a) H$mb - {d^mOZ & 
b) {ZJ©wU - ^{º$‘mJ© &    
c) H¥$îU - ^{º$emIm & 
d) am‘^[º$emIm & 
    

 
Q6) {ZåZ{b{IV JÚ H$m {hÝXr ‘| AZwdmX H$s{OE & [12] 

The elephant is a largest and strongest animal. It is a strong looking animal with its 
thick legs. Huge sides and back, large hanging ears, small tail little eyes, long white 
tusks and above all. Its long nose called the trunk. Elephants are found in India and in 
Africa. The Elephants is a very intelligent animal. 

  
 

��� 
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                                                       SECTION-A                                       (2 × 13 = 26) 

Answer any two questions 

 

Q1) What are the various significant discovories during 20th century in the field of 

science. 

 20 Ð@þ Ô¶ý™éºª…ÌZ OòÜ¯ŒþÞ Ææÿ…Væü…ÌZ ÑÑ«§æþ {ç³Ð@þ¬QÅ BÑÆ>ÂÐ@þÐ@þ¬Ë¯@þ$ Væü*Ça ÑÐ@þÇ…^èþ…yìþ.  

 

Q2) Explain the role vitamins in our daily life. 

 °™èþÅ iÑ™èþ…ÌZ ÑrÑ$¯@þÏ ´ë{™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

Q3) Write the importance of the alternative energy sources. 

 {ç³™éÅÐ@þ*²Ä¶ý$ Ô¶ýMìü¢ Ð@þ¯@þÆæÿ$Ë {́ ëÐ@þ¬QÅ™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

Q4) How Science and Technology influences the society. 

 çÜÐ@þ*gê°² OòÜ¯ŒþÞ Ð@þ$ÇÄ¶ý¬ Ýë…Móü†Mæü Ææÿ…V>Ë$ H Ñ«§æþ…V> {ç³¿êÑ™èþ… ó̂þÝë¢Æÿ¬. 

 

                                                       SECTION-B                                       (3 × 4 = 12) 

Answer any three questions 

   

Q5) a) Radar 

  Æ>yéÆŠÿ 

 

 

 b) Polymerization. 



   

  ´ëÍÐðþ$OÆðÿgôýçÙ¯Œþ. 

 c) Social Justice. 

  ÝëÐ@þ*hMæü ¯éÅÄ¶ý$….  

 d) Atomic power. 

  A×ý$Ô¶ýMìü¢. 

 e) Types of communication. 

  çÜ…Ð@þçßý×ý Ñ«§é¯éË$. 

 f) Biogas. 

  ºÄñý*V>Å‹Ü.  

                                                       SECTION-C                                       (3 × 4 = 12) 

Answer all questions 

 

Q6) Fill in the blanks: 

 a) Scurvy caused by __________ 

  çÜÅÈÓ §óþ° Ð@þË¯@þ Ð@þ^èþ$ā @þ$. __________ 

 b) Radio was inverted by __________ 

  ÆóÿyìþÄñý* Mæü¯@þ$Vö°¯@þ ÐéÆæÿ$ __________ 

 c) Computer inverted by __________ 

  Mæü…ç³NÅrÆŠÿ Mæü¯@þ$Vö¯@þ²¨ GÐ@þÆæÿ$ __________ 

 d) Silver revolution  __________ 

  íÜËÓÆŠÿ Ñç³ÏÐ@þÐ@þ¬ __________ 

Q7) Choose the correct – word. 

 çÜÇOÄñý$¯@þ ç³§æþÐ@þ¬¯@þ$ Væü$Ç¢…^èþ…yìþ. 

 a) Carbohydrates formula 

  i) C4 H10 O6. 

  ii) C6 H12 O6. 



   

  iii) CH2 Cl6. 

  iv) C4 H22 O7. 

  í³…yìþ ç³§éÆ>®Ë ¸ëÆæÿ$ÃÌê 

  i) C4 H10 O6. 

  ii) C6 H12 O6.  

  iii)  CH2 Cl6. 

  iii)  C4 H22 O7. 

 b) JamesWatt invented 

  i) Radar 

  ii) Radio 

  iii) Television 

  iv) Steam Engine 

  gôýÐŒþ$ÞÐésŒý Mæü¯@þ$Vö°¯@þ ç³ÇMæüÆæÿÐ@þ¬. 

  i) Æ>yéÆŠÿ   

  ii) ÆóÿyìþÄñý* 

  iii) sñýÍÑf Œ̄þ 

  iv) BÑÇ Ä¶ý$…{™èþÐ@þ¬ 

c) Chemical formula of chloroformes 

  i) CO 

  ii) CO2 

  iii) NH3  

  iv) CHCl3 

  MøÏÆø¸ëÆæÿ… Äñý¬MæüP ÆæÿÝëÄ¶ý$¯@þ ¸ëÆæÿ$ÃÌê 

  i) CO 

  ii) CO2. 

  iii) NH3  



   

  iv) CHCl3 

Q8) Match the following: 

 a) Nylon 6/6  Egypt 

 b) Insulin  Virus 

 c) HIV   Harmone 

 d) Pyramids  Synthetic fibre 

  a) Ō ðþÌê¯Œþ  6/6  Dh‹³t 

 b) C¯@þ$ÞÍ¯Œþ  OÐðþÆæÿ‹Ü 

 c) HIV   àÆøÃ Œ̄þ 

 d) í³ÆæÿÑ$yŠþ  Mæü–{†Ð@þ$ ´ùVæü$Ë$ 

 

E E E 
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                                                       SECTION-A                                       (4 × 10 = 40) 

Answer any four of the following 

 

Q1) Write the multidiscriplinary nature of the environmental studies. 

 ç³Æ>ÅÐ@þÆæÿ×ý A«§æþÅÄ¶ý$¯@þ… Äñý¬MæüP ºçßý$Ð@þ¬Q çÜÓ¿êÐ@þÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

Q2) What are the various factors of ecosystem. Explain with suitable examples. 

 BÐ@þÆæÿ×ý Ð@þÅÐ@þçÜ¦ Äñý¬MæüP A¯@þ$çœ$rM>Ë¯@þ$ E§éçßýÆæÿ×ýË™ø ÑÐ@þÇ…^èþ…yìþ.  

Q3) Explain the following 

 “Mìü…¨ Ðé°° ÑÐ@þÇ… è̂þ…yìþ. 

 a) Food chain 

  çœ#yŠþ ð̂þÆÿ¬¯Œþ 

 b) Energy flow 

 G¯@þÈj ´ùÏ  

Q4) What are the various ecological pyramids. 

 ÑÑ«§æþ BàÆæÿ í³ÆæÿÑ$yŠþË¯@þ$ ÑÐ@þÇ…^èþ…yìþ.  

   

Q5) Define soil & explain various conservative practices. 

 Ð@þ$–†¢Mæü¯@þ$ ÑÐ@þÇ…_, Ð@þ$–†¢Mæü çÜ…Ææÿ„æü×ý Ñ«§é¯éË @̄þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

Q6) Explain ozone depletion. 

 KgZ Œ̄þ ´÷Ææÿ „îü×ý™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

       

Q7) Explain sources, effects and control measures of noise pollution. 



   

 Ô¶ýºª M>Ë$çÙÅ M>ÆæÿM>Ë$, {ç³¿êÐéË$ Ð@þ$ÇÄ¶ý¬ °Ä¶ý$…{™èþ×ý ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

Q8) Explain the urban problems related to energy. 

 ç³rt×êËÌZ Ñ§æþ$Å™Œþ çÜÐ@þ$çÜÅË¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

                                                       SECTION-B                                       (3 × 20 = 60) 

Answer any three of the following 

 
Q9) Explain the conservation and management of Natural Resources. 

 çÜçßýf Ð@þ¯@þÆæÿ$Ë çÜ…Ææÿ„æü×ý Ð@þ$ÇÄ¶ý¬ °ÆæÿÓçßý×ý @̄þ$ ÑÐ@þÇ… è̂þ…yìþ. 

Q10) Write the sources effects and control measures of water pollution. 

 fË M>Ë$çÙÅ M>ÆæÿM>Ë$, {ç³¿êÐéË$ Ð@þ$ÇÄ¶ý¬ °Ä¶ý$…{™èþ×ý ç³§æþ®™èþ$Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ.  

Q11) Explain in detail about levels of bio-diversity and hot spots.  

 àsŒýÝëµsŒýË¯@þ$ Ð@þ$ÇÄ¶ý¬ iÐ@þ OÐðþÑ§æþÅ Ýë¦Æÿ¬Ë¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

Q12) Explain the following: 

 a) CZM 

 b) Urbanization 

 c) IUCM 

 d) WWF 

 “Mìü…¨ Ðé°° ÑÐ@þÇ… è̂þ…yìþ. 

 a) CZM 

 b) ç³rt×îýMæüÆæÿ×ýÐ@þ¬ 

 c) IUCM 

 d) WWF 

  



   

Q13) Explain thermal and radio active pollutions. 

 ÆóÿyìþÄñý*««§éÇÃMæü Ð@þ$ÇÄ¶ý¬ «£ðþÆæÿÃÌŒý M>Ë$ÚëÅË¯@þ$ ÑÐ@þÇ… è̂þ…yìþ. 

   

Q14) Write effects of mining on environment & role of individual in conyservation of 

mines. 

 Væü¯@þ$Ë {™èþÐ@þÓMæü… Ð@þË¯@þ ç³Æ>ÅÐ@þÆæÿ×ý… Oò³ {ç³¿êÐé°² ÑÐ@þÇçÜ*¢, Q°f çÜ…Ææÿ„æü×ýÌZ Ð@þÅMìü¢ Äñý¬MæüP 
´ë{™èþ¯@þ$ ÑÐ@þÇ…^èþ…yìþ. 

 

 

E E E 
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                                                         SECTION-A                                      (8 x 3 = 24) 

               Answer all  the following questions.  

                  Each question carries 3 marks. 

                 

Q1) Find the equation of the plane passing through the points (1, 1, 1), (1, -1, 1),             
(-7, -3, -5). 

 (1, 1, 1), (1, -1, 1) ,(-7, -3, -5)   ¼…§æþ$Ð@þ#Ë Væü$…yé ´ùÄôý$ ™èþË… çÜÒ$MæüÆæÿ×ê°² Mæü¯@þ$MøP…yìþ. 
 

Q2) Show that the lines 4 4 5 12, 8 12 13 32;x y z x y z+ − = + − =  3 2 3

x y z
= =

−  
are 

perpendicular.   Ë$ Ë…º…V> E…sêÄ¶ý$° è̂þ*ç³…yìþ.  

Q3) Find the equation of the sphere through the circle 2 2 2 9,x y z+ + =   

2 3 4 5x y z+ + =  and the point (1, 2, 3).  

  2 2 2 9,x y z+ + =  2 3 4 5x y z+ + =  A ó̄þ Ð@þ–™èþ¢… Væü$…yé¯@þ$ (1, 2, 3) A ó̄þ  ¼…§æþ$Ð@þ# 
Væü$…yé @̄þ$ ´ùÄôý$ Vøâ¶ý… çÜÒ$MæüÆæÿ×ê°² Mæü¯@þ$MøP…yìþ. 

Q4) Find the equation of the cylinder whose generators are parallel to the line 

1 2 3

x y z−
= =  and whose base curve is 2 22 1, 3x y z+ = = . 

  JMæü çÜ*¦ç³MæüÐ@þ¬ Äñý¬MæüP f¯@þMæü ÆóÿQË$ 
1 2 3

x y z−
= =  A @̄þ$ ÆóÿQMæü$ çÜÐ@þ*…™èþÆæÿ…V> E…yìþ 

2 22 1, 3x y z+ = =  A @̄þ$ ¿¶ý*Ð@þ“Mæü… Væü$…yé ´ù™óþ §é° çÜÒ$MæüÆæÿ×ýÐ@þ¬¯@þ$ Mæü¯@þ$MøP…yìþ.  

Q5) Prove that the sequence {Sn} where 
1 1 1

- - -
1 2n

S
n n n n

= + + +
+ + +

  is 

convergent. 

  
1 1 1

- - -
1 2n

S
n n n n

= + + +
+ + +

    AÆÿ¬ @̄þ {Sn} AÀçÜÇçÜ$¢…§æþ° è̂þ*ç³…yìþ. 

 



   

 

Q6) Test for convergence ( )2

1

1
n

n n
∞

=

+ −∑ . 

 ( )2

1

1
n

n n
∞

=

+ −∑   AÀçÜÆæÿ×ý™èþ¯@þ$ ç³È„ìü… è̂þ…yìþ. 

Q7) Prove that 

1

1

1
( ) ,

1

x

x

e
f x x

e

 −
=   + 

if 0x ≠  and f (0) = 0 is continuous at x = 0 but 

not derivable at x = 0.  

 

1

1

1
( ) ,

1

x

x

e
f x x

e

 −
=   + 

0x ≠  AÆÿ¬¯@þç³#yæþ$ Ð@þ$ÇÄ¶ý¬ f (0) = 0, x = 0  Ð@þ§æþª AÑ_ē @þ²™èþ 

AÐ@þ#™èþ$…¨ M>° AÐ@þMæüË±Ä¶ý$… AÐ@þ§æþ° °Ææÿ*í³… è̂þ…yìþ. 

Q8) Show that ( ) 3 1f x x= +  is integrable on [1, 2] and 
2

1

11
(3 1)

2
x dx+ =∫  .  

 ( ) 3 1,f x x= + [1, 2] Ò$§æþ çÜÐ@þ*MæüË±Ä¶ý$Ð@þ$Ð@þ#™èþ$…§æþ° Ð@þ$ÇÄ¶ý¬ 
2

1

11
(3 1)

2
x dx+ =∫  A° 

è̂þ*ç³…yìþ.  

                           SECTION-B                                  (4 x 11½ = 46) 

                    Answer all  questions. 

                  Each question carries 11½  marks.  

Q9) a) i) Find the bisecting plane of the obtuse angle between the planes  
2 2 3 0, 3 2 6 8 0x y z x y z− − + = − + + = . 

  2 2 3 0,x y z− − + =  Ð@þ$ÇÄ¶ý¬ 3 2 6 8 0x y z− + + =  ™èþÌêË Ð@þ$«§æþÅ 
Væü$Ææÿ$Mø×ê°² çÜÐ@þ$¨ÓQ…yæþ¯@þ ó̂þõÜ ™èþËÐ@þ¬¯@þ$ Mæü¯@þ$MøP…yìþ. 

  ii) Prove that the equation of the plane through the points (1, -2,4) and 
(3,-4,5) and parallel to x-axis is 2 6y z+ = . 

  (1,-2,4) Ð@þ$ÇÄ¶ý¬ (3,-4,5)  ¼…§æþ$Ð@þ#Ë$ Væü$…yé ´ù™èþ*, x-A„æüÐ@þ¬¯@þMæü$ 
çÜÐ@þ*…™èþÆæÿ…V> E…yóþ ™èþËÐ@þ¬ 2 6y z+ =  A° è̂þ*ç³…yìþ. 

     OR 

 b) Find the length and equations to the line of S.D. between the lines  
2 3 1 4 5 2

,
3 4 2 4 5 3

x y z x y z− − − − − −
= = = =  A @̄þ$ ÆóÿQË Ð@þ$«§æþÅ AËµ™èþÐ@þ$ 

§æþ*Æ>°² Ð@þ$ÇÄ¶ý¬ AËµ™èþÐ@þ$ §æþ*Ææÿ ÆóÿQ çÜÒ$MæüÆæÿ×ýÐ@þ¬Ë¯@þ$ Mæü¯@þ$MøP…yìþ. 

    



   

Q10)a) i) Find the equation of the sphere which touches the phane 
3 2 2 0x y z+ − + =  at (1, -2, 1) and cuts orthogonally the sphere 

2 2 2 4 6 4 0x y z x y+ + − + + = . 

   3 2 2 0x y z+ − + =  A¯óþ ™èþË… @̄þ$ (1, -2, 1) §æþVæüYÆæÿ çÜµ –Õ… ó̂þ Ð@þ$ÇÄ¶ý¬ 
2 2 2 4 6 4 0x y z x y+ + − + + =  A ó̄þ Vøâ¶ý… @̄þ$ Ë…º…V> Q…yìþçÜ*¢ ´ùÄôý$ 

Vøâ¶ý çÜÒ$MæüÆæÿ×ýÐ@þ¬¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

  ii) Find the equation of the tangent plane to the sphere 2 2 2 9x y z+ + =  

which pass through the line 
5 1 1

2 2 1

x y z− − −
= =

−
. 

  2 2 2 9x y z+ + =  A ó̄þ Vøâê°Mìü 
5 1 1

2 2 1

x y z− − −
= =

−
 A¯óþ çÜÆæÿâ¶ýÆóÿQ Væü$…yé 

´ùÄôý$ çÜµÆæÿØ™èþÌê°² Mæü¯@þ$Vö¯@þ$Ð@þ¬. 
OR 

 b) i) Find the equation to the cone which passes through the three 

coordinate axes and the lines ,
1 2 3 1 1 1

x y z x y z
= = = =
− −

 and 

5 4 1

x y z
= = . 

  °Ææÿ*ç³Mæü A„>Ë Væü$…yé ´ù™èþ* ,
1 2 3 1 1 1

x y z x y z
= = = =
− −

 Ð@þ$ÇÄ¶ý¬ 

5 4 1

x y z
= =  f @̄þMæü ÆóÿQË$ VæüË Ô¶ý…Q$Ð@þ# çÜÒ$MæüÆæÿ×ýÐ@þ¬ Mæü¯@þ$MøP…yìþ. 

  ii) Find the equation of the right circular cylinder whose axis is 
2 3 4

2 1 2

x y z− − −
= =

−
 and of radius 3. 

   3 Ä¶ýÊ°r$Ï ÐéÅÝëÆæÿ®…, 
2 3 4

2 1 2

x y z− − −
= =

−
 A„æü…V> VæüË Ð@þÆæÿ$¢Ë çÜ*¦ç³… 

Mæü @̄þ$MøP…yìþ. 

Q11) a) i) Test for convergence
1

2.4 .....(2 )

5.7 .....(2 3)n

n

n

∞

= +
∑ . 

   “
1

2.4 .....(2 )

5.7 .....(2 3)n

n

n

∞

= +
∑ AÀçÜÆæÿ×ý™èþ¯@þ$ ç³È„ìü… è̂þ…yìþ.  

  ii) Test for convergence ( )4 4

1

1 1
n

n n
∞

=

+ − −∑ . 

  ( )4 4

1

1 1
n

n n
∞

=

+ − −∑  Äñý¬MæüP AÀçÜÆæÿ×ý™èþ¯@þ$ ç³È„ìü… è̂þ…yìþ. 

   OR 
 



   

 b) i) If :[ , ]f a b → �  is continuous on [a, b] then show that f is bounded 

on [a, b]. 

  :[ , ]f a b → � ý{ç³Ðóþ$Ä¶ý$… [a, b] ÌZ AÑ_ē @þ²OÐðþ$™óþ  [a, b] ÌZ  f  ç³Çº§æþ®… A° 
è̂þ*ç³…yìþ. 

  ii) Show that the function defined by 3( )f x x=  is uniformly continuous 

in [-2, 2]. 

  °ÆæÿÓ è̂þ¯é°² ºsìýt  3( )f x x= {ç³Ðóþ$Ä¶ý$… [-2, 2] Oò³ HMæüÆæÿ*ç³ AÑ_ē @þ²… A° 
è̂þ*ç³…yìþ. 

Q12) a) i) State and prove Cauchy’s mean value theorem. 

   MøïÙ Ð@þ$«§æþÅÐ@þ$ Ð@þÊËÅ íÜ§é®…™èþÐ@þ¬¯@þ$ {ç³Ð@þ_…_ °Ææÿ*í³… è̂þ…yìþ.  

  ii) Find ‘C’ of Cauchy mean value theorem for 2
1( )f x

x
=  and 

1( )g x
x

=  on [a, b] ; a, b, > 0.  

  2
1( )f x

x
= Ð@þ$ÇÄ¶ý¬ 1( )g x

x
=  [a, b] Ò$§æþ {ç³Ðóþ$Ä¶ý*ËÆÿ¬¯@þ MøíÙ 

Ð@þ$«§æþÅÐ@þ$ Ð@þÊËÅ íÜ§é®…™èþÐ@þ¬¯@þ$ Eç³Äñý*W…_ ‘C’ ÑË$Ð@þ¯@þ$ Mæü¯@þ$Vö¯@þ$Ð@þ¬. 

OR 
 b) i) Prove that a bounded function :[ , ]f a b → �  is Riemann integrable 

on [a, b] iff for each 0∈>  there exists a partition of P of [a, b]  such 
that0 ( , ) ( , )U P f L P f≤ − <∈. 

  :[ , ]f a b → � ç³Çº§æþª {ç³Ðóþ$Ä¶ý$… [a, b]  Ò$§æþ ÈÐ@þ*¯Œþ çÜÐ@þ*MæüË±Ä¶ý$… 
M>Ð@þyé°Mìü BÐ@þÔ¶ýÅMæü ç³Æ>Åç³¢ °Ä¶ý$Ð@þ$… {ç³† 0∈>  Mæü$ A @̄þ$Væü$×ý…V> 
0 ( , ) ( , )U P f L P f≤ − <∈ AÄôý$Årr$Ï  [ , ]P a bφ∈  Ð@þÅÐ@þíÜ¦™èþ….  

  ii) Prove that 
3 2 3

024 5 3cos 6

x
dx

x

ππ π
≤ ≤

+∫ . 

  {
3 2 3

024 5 3cos 6

x
dx

x

ππ π
≤ ≤

+∫     A° è̂þ*ç³…yìþ. 

 

E E E 
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           SECTION-A               (2 × 8 = 16) 

Answer any Two of the following questions 
HÐóþ° Æðÿ…yæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý¬Ð@þ¬ 

 

Q1) What is Human Development? How do you measure Human Development           
Index? 

 Ð@þ*¯@þÐéÀÐ@þ– ®̈ A¯@þV>¯óþÑ$? Ð@þ*¯@þÐéÀÐ@þ– ®̈ çÜ*_Mæü¯@þ$ ±Ð@þ#GÌê MöË$Ýë¢Ð@þ#? 

Q2) Explain the structural changes in National Income of Indian Economy. 

 ¿êÆæÿ™èþ§óþÔ¶ý BÇ¦Mæü Ð@þÅÐ@þçÜ® gê¡Ä¶ý*§éÄ¶ý$…ÌZ Ð@þ_ā @þ °Æ>Ã×ê™èþÃMæü Ð@þ*Ææÿ$µË¯@þ$ 
ÑÐ@þÇ…ç³#Ð@þ¬? 

Q3) What are the causes of poverty in India? 

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ õ³§æþÇM>°Mìü M>Ææÿ×êË$ ÑÐ@þÇ…^èþ…yìþ. 

Q4) Critically Examine the public distribution System. 

 {ç³gêç³…í³×îý Ð@þÅÐ@þçÜ¦̄ @þ$ ÑÐ@þ$ÆæÿØ¯é™èþÃMæü…V> ÑÐ@þÇ…^èþ…yìþ? 
 

 

                                            SECTION-B               (3 × 14 = 42) 

Answer any Three of the following questions 
HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯éË$ {ÐéÄ¶ý¬Ð@þ¬ 

 
Q5) Explain the obstacles to the Economic development of the under developed 

countries. 

 AÀÐ@þ– ®̈ ð̂þ…§æþ$™èþ$¯@þ² §óþÔ>Ë BÇ®M>ÀÐ@þ– ®̈Mìü VæüË AÐ@þÆø«§æþÐ@þ¬Ë¯@þ$ ™ðþË$µÐ@þ¬. 
 
Q6) Explain the Balanced Growth Strategy. 

 çÜ…™èþ$Í™èþ Ð@þ– ®̈ Ð@þNÅàý°² ÑÐ@þÇ…^èþ…yìþ. 

 
Q7) Explain the defects of Agricultural Marketing in India? 



   

 ¿êÆæÿ™èþ§óþÔ¶ý…ÌZ Ð@þÅÐ@þÝëÄ¶ý$ Ð@þ*ÆðÿPsìý…VŠü ÌZ´ëË @̄þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q8) Explain the Different Sources of Industrial Finance. 

 ÑÑ«§æþ ´ëÇ“Ô>Ñ$Mæü Ñ™èþ¢ Ð@þ*Æ>YË¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 

Q9) Critically Examine the new Industrial Policy 1991. 

 1991 @̄þ*™èþ¯@þ ´ëÇ“Ô>Ñ$Mæü Ñ«§é¯é°² ÑÐ@þ$ÆæÿØ¯é™èþÃMæü…V> ÑÐ@þÇ… è̂þ…yìþ. 
 
Q10) Explain the principle of Balance of Payments. 

 Ñ§óþÖ ^ðþÍÏ…ç³#Ë ÔóýçÙÐ@þ¬¯@þ$ Væü$Ç…_ ÑÐ@þÇ…ç³#Ð@þ¬. 
 

                                          SECTION-C               (3 × 4 = 12) 

Answer any Three of the following questions 
HÐóþ° Ð@þÊyæþ$ {ç³Ô¶ý²ËMæü$ çÜÐ@þ*«§é¯éÍÐ@þ¬Ã 

Q11)  Liberalisation 

 çÜÆæÿäMæü–™èþ BÇ¦Mæü Ñ«§é¯@þÐ@þ¬ 
 
Q12)  Land Reforms 

 ¿¶ý* çÜ…çÜPÆæÿ×ýË$ 
 
Q13)  Green Revolution 

 çßýÇ™èþ Ñç³ÏÐ@þÐ@þ¬ 
 
Q14)  Small Scale Industries 

 _ @̄þ² ™èþÆæÿçà ç³Ç“Ô¶ýÐ@þ$Ë$ 
 
Q15)  Achievements of the five year plans 

 ç³…^èþÐ@þÆæÿÛ {ç³×êãMæüË {ç³Væü† 
 
Q16)  Causes of Unemployment 

 °Ææÿ$§øÅW™èþ M>Ææÿ×êË$ 

� � � 
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SECTION - A 

   Answer any four of the following (4 × 12½ = 50) 

Q1) a) Fit a curve of the form y = ae
bx to the following data 

  D “Mìü…¨ §æþ™é¢…Ô>°Mìü y = ae
bx  Ææÿ*ç³…V> VæüË Ð@þ“MæüÐ@þ¬¯@þ$ çÜ…«§é°…^èþ$Ð@þ¬. 

   X : 2 3 4 5 6 

   Y : 8.5 15.3 33 65 125  

   

 b) Explain the principle of least squares. Give the method of fitting an               
Exponential Curve.  

  Mæü°ççÙx Ð@þÆ>YË çÜ*{™èþÐ@þ¬¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. çœÊ™èþ Ð@þ“MæüÐ@þ¬¯@þ$ çÜ…«§é°…^èþ$ ç³§æþ®†° 
™ðþË$ç³#Ð@þ¬. 

 

Q2) a) Distinguish between correlation and regression. 

  çÜçßýçÜ…º…«§æþ Ð@þ$ÇÄ¶ý¬ {ç³†VæüÐ@þ$¯@þÐ@þ¬ Ð@þ$«§æþÅ »ôý§éË¯@þ$ ™ðþË$ç³#Ð@þ¬. 

 b) Derive the partial correlation coefficient 
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Q3) a) Derive 95% confidence intervals for the population mean in the case of 
N.D. when population variance is known. 

 ÝëÐ@þ*¯@þÅ Ñ¿êf @̄þ… Äñý¬MæüP A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬¯@þMæü$ 95% ÑÔ¶ýÓçÜ±Ä¶ý$™é 
A…™èþÆæÿÐ@þ¬¯@þMæü$, çÜÑ$íÙt ÑçÜ¢ –† ™ðþÍíÜ¯@þç³#yæþ$ E™èþµ̄ @þ²Ð@þ¬ ^óþÄ¶ý¬Ð@þ¬. 

 b) Explain the method of moments.  

  çœÊ†MæüË¯@þ$ ç³§æþ®†° ÑÐ@þÇ…ç³#Ð@þ¬. 

 

Q4) a) Define 2χ  – distribution , its properties and uses. 

 
2χ  – Ñ¿êf @̄þ…¯@þ$ °ÆæÿÓ_…_, Ðésìý «§æþÆ>ÃË$ Eç³Äñý*V>Ë$ {ÐéÄ¶ý$…yìþ. 

 b) Establish the relation between 2χ and F. 

 
2χ  Mìü  F  Ð@þ$«§æþÅ çÜ…º…«§é°² °ÆæÿÓ_…ç³#Ð@þ¬. 

 

Q5) Find the best critical region for the test H0 : 
0λ λ= against H1 : 

1λ λ= , for a 

Poisson distribution. 

 JMæü ´ëÆÿ¬f Œ̄þ Ñ¿êf @̄þ… ¯@þ$…yìþ “Væüíßý…ç³ºyìþ¯@þ H0 : 0λ λ= ,  H1 : 1λ λ=   A ó̄þ çÜÆæÿâ¶ý 
{́ ë†ç³¨Mæü, {ç³™éÅÐ@þ*²Ä¶ý$ ç³ÇMæüËµ̄ @þË$ ç³È„ìü…^èþyé°Mìü E™èþ¢Ð@þ$ çÜ…¨Væü¦ {́ ë…™é°² 
Mæü¯@þ$Vö¯@þ…yìþ.  

Q6) a) Explain a large sample test for testing the significance of the difference   
between two sample means. 

 Æðÿ…yæþ$ {ç³†Ææÿ*ç³Ð@þ¬Ë B«§éÆæÿ…V> Ðésìý A…MæüÐ@þ$«§æþÅÐ@þ$Ð@þ¬Ë Ð@þ$«§æþÅVæüË ¿ôý§æþÐ@þ¬ 
Äñý¬MæüP ÝëÆæÿ®Mæü™èþ¯@þ$ JMæü º–çßý™Œþ {ç³†Ææÿ*ç³ ç³È„æü¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 

 
 b) Describe the F – test for equality of population variances. 

 A¯@þ$Ð@þÆæÿ¢̄ @þÐ@þ¬Ë¯@þ$ {ç³Ð@þ_…^èþ$Ð@þ¬. Æðÿ…yæþ$ çÜÑ$çÙ$tË ÑçÜ¢ –™èþ$Ë çÜÐ@þ*ç̄ @þ™èþMæü$ F – 

ç³È„æü¯@þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
  

  
 
Q7) Describe large sample test for standard deviation.  
 “MæüÐ@þ$ Ñ^èþË¯@þÐ@þ¬¯@þMæü$ º–çßýçÜµ† Ææÿ*ç³ ç³È„æü¯@þ$ ÑÐ@þÇ…ç³#Ð@þ¬. 
 



   

 

Q8) a) What are non – parametria tests? Give their advantages and disadvantages. 

 Aç³Æ>Ñ$¡Ä¶ý$ ç³È„æüË¯@þV> HÑ?  Ðésìý {ç³Äñý*f¯éË¯@þ$ Ð@þ$ÇÄ¶ý¬ A{ç³Äñý*f¯éË$ 
™ðþË$µÐ@þ¬. 

 
 b) Explain median test. 

 Ð@þ$«§æþÅVæü™èþÐ@þ¬ ç³È„æü @̄þ$ ÑÐ@þÇ…^èþ$Ð@þ¬. 
 

SECTION - B 

Q9) Answer All questions                 (10 × 2 = 20) 

 
 

  a) Define scattered diagram. 
  ÐéÅç³Mæü ç³rÐ@þ¬  A¯@þV>¯óþÑ$. 
 
   b) Define sampling distribution. 
  {ç³†Ææÿ*ç³ Ñ¿êf¯@þ…¯@þ$ °ÆæÿÓ_…^èþ$Ð@þ¬. 
 
  c) Internal estimation 
  A…™èþÆæÿç³# A…^èþ¯é 
 
 d) Power of test 
  ç³È„> Ô¶ýMìü¢ 
 
 e) Regression 
  {ç³†VæüÐ@þ$¯@þ 
 
 f) Write normal equation to 2nd degree parabola. 
  Æðÿ…yø yìþ“X ç³Æ>Ð@þËÄ¶ý*°Mìü ÝëÐ@þ*¯@þÅ çÜÒ$MæüÆæÿ×ýÐ@þ¬Ë¯@þ$ {ÐéÄ¶ý¬Ð@þ¬. 
 

  
  
 g) Sufficiency 
  ç³Æ>Åç³¢Ð@þ¬ 
 
 h) Null hypothesis 
  {́ ë† ç³¨Mæü 
 



   

 i) Sign test 
  {ç³† Ææÿ*ç³ ç³È„æü 
 
 j) Any two uses of Non – parametric tests. 
  Aç³Æ>Ñ$¡Ä¶ý$ ç³È„æüË HÐóþ° Æðÿ…yæþ$ Eç³Äñý*V>Ë$. 
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